GURU NANAK COLLEGE,DHANBAD

DEPARTMENT OF PSYCHOLOGY

INTERNAL EXAM -SEM 1V (2018-2021)

PAPER — STATISTICS — CC -IX

QUESTIONS — 25(2X25), FM — 50

TIME - 45 MIN

WHICH OF THE FOLLOWING IS NOT NECESSARY FOR THE USE OF
PRODUCT MOMENT CORRELATION METHOD ? Wigee dgdeyl afer &
3T & fAFAToEd H T i T 9T H Agl g 2 *

LINEAR RELATIONSHIP BETWEEN TWO VARIABLES
ar T & T W qggey ger

CONTINUOUS VARIABLES Gl TR I AT gieT |
NORMAL DISTRIBUTION BETWEEN TWO SETS OF SCORES -

gt At & gredis # gatAET Ao ger

OBLIGATION TO FIND CORRELATION COEEFICIENT IN ASHORT TIME -
A & HAT H HEHY I[ONh AT el T qTege

THE CORRELATION BETWEEN ANY TWO VARIABLES WILL BE - fegr
ar W & IT FT g -G grem | *

POSITIVE CORRELATION - tellcA Tgaa
NEGATIVE CORRELATION - FOTcHS TGS
ZERO CORRELATION - YT HE HIY
NONE OF THESE - 50 ¥ IS Th

THE METHOD DEVELOPED BY CARL PEARSON IS CALLED - &Tel
OREsT garr dswfaa fAfr = wgr Sar g -+

RANK DIFFERENCE CORRELATION METHOD - HIET R Hg day fafer

PRODUCT MOMENT CORRELATION METHOD - qisde AFe TgaaY

Bl SERIAL CORRELATION METHOD gfadfed weaey fafer

PHI - COEEFICIENT - WIS T fafer
IF THE DATA OF TWO VARIABLES ARE GIVEN AS CATEGORIES ,THEN
WHICH OF THE FOLLOWING CORRELATION WILL BE EXTRACTED TO
FIND THE CORRELATION COEFFICIENT BETWEEN THEM -
e & T & s AT & 9 F QU v g af 39 g gy
0T AT A & v efaf@d & @ Sl a1 agdayr Harer s |

r
T
W




v

. P
5. Afof@a st & sia yaEe 3awer & [FAvar 8 § ?Which of the

following statements does not characterize the normal distribution *
l. In the case of normal distribution, the mean median and the polymer are exactly
the same.

ST faoRoT S Fufa & Aeg | AT 3N agos Wobd FAE 81d &
Il. The normal curve is always asymptote -
YA deh AT 3eTeasaeil gxar & |
1. Tl gereR 9% TATHYT d%h 8id o |
Iv.  gfauel geles yHATg g% HT Uh Haeds AV ¢ |
6. When a distribution is completely normal - SI& #I5 faaxor E[U‘IT-P JAHT §

ar

l. mean is greater than median - ALTATT ATegenr F s giar g
1. median is greater than mean - AfCTHT ALIAT & 31f8& gl &

Il mean is lesser than median - ALTATT AfCTSdT & giar gl

\2 both mean and median are equal - AT 3R ARIST SN 8 & |

7. The fundamental feature of the normal distribution curve is - JETATTT [&aIoT
ash i Herdd faATAr g -
l. unimodal figure - Tehagoleh!

1. bell - shaped figure - gerhRr T
. bilateral symmetry - cfauel geteras
V. asymptote curve - 3edeaeqeft aw

8. functions of t-test are - & - G&TOT HT § - *
l. Examining the significance of difference between two means -
ar AT & &g A AT AT AT ST HLAT |
Il. Examining the significance of correlation between two variables -
& T F AT Tg -de9y H qrdwar H AT FET |
Il Examining the significance of differences between more than two groups-

ar & e HAgl & T I hT @rienar B S L |
IV.  all of these - ELECTIRE)
9. Which of the following formulas is correct to find df in terms of t ratio- €T -

AU & HeH A df AT F & fav Feafaf@a g & @i ar @@ §
?

. (N1 +N2)-2

Il. N-1

1. (N1-1) + (N2 - 1)

V. FH @ PIE AL

10.If the t value is significant at the .05 level between the boys 'group and the
girls' group, it means that - If¢ oSeh & WHg A oIsfhal & WA & Al
# & Heg .05 TR W A gl ar sahr 318 Jg gam fob -+

l. Null hypothesis accepted L H’I\{%o‘qd{{-d“lqed g Y |




The real difference between the two groups is
Qe Wl & A= aedide 3T § |
Sexual factors are the real cause of difference between the two groups

Al GHEl & AT HA HT arEdfdeh HROT AT SR ¢ |
all of these - ELECTIREN)

11.The significance of the difference between two means is checked by -.ar

HEIA & aF 3ax T Grdiehdr 1 ST & Sy g oo-

chi-square - FS - 9T GaRT
t- test - & - 3feUTd e@RT
median - ACIHT arT
mode - Sgellsh GanT

12.Which statement is wrong with reference to chi-square - Which statement is

wrong with reference to chi square?

chi -square is a parametric statistics -
FIS - T THh Al AETHT § |
The chi - square test is used when the results are in the form of a score-

FIE - I TULTUT HT 3TAET a9 FAT ST & 9 IRUMA Uiediss & §9 & 8 &

I
The chi-square result is less reliable than the t-test.-

1S o o 3TUTRA gRomA & - odietor @ FA gy giar g

The association between the result obtained by chi-square and the expected result
is investigated.-

FS - G & GaRT gIed IROMA AR JeA1AT IROMA & &< dgad i S
STl & 1

13.The main difference between chi-square test and t test is- TS - g3T gIr&ToT

AR & - odeTor A AT FR § -+

Kai class is simple test while t test is difficult

PTS - T T TNETT § SRR & - TNETOT HiST ¥ |

chi square is parametric test while t-test is non parametric test -
FS - I IS G{eToT § S & - gdetor wfea § |

The number of groups in the use of a chi square is more than 2, while in the use of
t tests, the number of groups is only two

HIS - a7 o IUANT gl [haT ST & , ST6T HeGl 1 TE&AT &l & HfUH gl §
SafR & qleTOT FH IUANRT FET fHAT AT § ST Tl T HEAT f{F & gl §
|

The chi square gives a qualitative interpretation of the difference while the t test
gives a quantitative interpretation

HS - TN @ HAR &I IUMcHS ITEAT Bl § STafeh &1 GA&ToT & ATACHS
SITEAT gl § |

14.Which hypothesis is tested by chi square - &S - T gdieTor ¥ fFg

TReheTaT T ST glar & ? *

normal distribution hypothesis - JHTATY fIaR0T Iieheqar



Il. independent hypothesis - TadT IREege

1. equal distribution hypothesis - AT FHTSIAT IR
IV.  all of these - 39 Telr
15. N1 =54 N2=54 , MEAN 1 36.80 MEAN 2 =40.62,SD 1 =5.29 SD2 =4.80 *
. 3.94
1. 1.56
Il. 2.50
V. 5.04

16.18,22,26,18, 16, 18 =100

—

Your answer
17.19,17 ,6=42*

—

Your answer

18.What else is T test known as? t-test ' 3R frg 10 & FT J1aT & - *

. student t - ST &

I. Wt - Seo &

. chi square - COESCE )

IV.  none of these - 3UFT A @ IS G

19.To check for the significance of the difference between two means, the
null hypothesis is started. - G ATEIT & &I X HT TTIHAT HT T F

foT e aRFeT=r & & fhar S & |+
l. true - g

Il false - el

20.When a hypothesis is meaningful at .05, what is the percentage of
probability that the difference or correlation between the two means is
true - ST9 HIg IRFeTAT . 05 9T ATHF gidl & dd al ATEAT o & d
3R T TEAEY o dIEdTdeh gl o GANT T FHTGAT Tohcdel Tfarerd
CUK I

—

Your answer

21.What is the formula for extracting df in product correlation method? 9ga&e

agaee fafer 7 df fieres &1 g7 T § 2 ¢
. df= N-2
I. df =N -1
M. df= (c-1)(r-1)

V. 5T @ @5l AR



22.What is it called when the number of observations are 30 or more - Sid
fAdreon r TEar 30 IT Y S BT & A W FAT Fed g ? ¢
l. dsT N
1. Bler N
M. s N
IV. S & FIig o &
23.When both observations are large means, when N is large, it is more
correct to find Pearson's r.
J9 arar fAdeTon $r gear 3w g i J9 N §37 @ ar ae
AT FAT F T g & |+

l. True Ter
Il. false eld
24.chi - square is a ..... statistics . - ®T1S T Th .. FIEgHT fAafer § - *
l. parametric - gdfelsh
1. non parametric - 3rafers

25.When a hypothesis is meaningful at .01, what is the percentage of
probability of coincidence that the difference or correlation between two
means is true?

SIS HIg IRFeTT . 01 W A& & d9 &l AT o &g HcaX AT T8
TIY & qEdfdh gl & TAT HI TG fhaar gfdera gy & |+



